JS≣

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06 VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ S Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value	Trade Type	Buy/ Sell
8:02:41	\$ / R 06/06/2017	Any day expiry		0.00	1	1,000	13,800	13,800,000	13.1415		181,352,700.00	Member	Buy
8:02:41	\$ / R 06/06/2017	Any day expiry		0.00	1	1,000	2,200	2,200,000	13.1415		28,911,300.00	Member	Buy
8:02:41	\$ / R 06/06/2017	Any day expiry		0.00	1	1,000	2,600	2,600,000	13.1415		34,167,900.00	Member	Buy
8:02:41	\$ / R 06/06/2017	Any day expiry		0.00	1	1,000	1,400	1,400,000	13.1415		18,398,100.00	Member	Buy
8:02:41	\$ / R 06/06/2017	Any day expiry		0.00	1	1,000	2,200	2,200,000	13.1415		(28,911,300.00)	Client	Sell
8:02:41	\$ / R 06/06/2017	Any day expiry		0.00	1	1,000	13,800	13,800,000	13.1415		(181,352,700.00)	Client	Sell
8:02:41	\$ / R 06/06/2017	Any day expiry		0.00	1	1,000	1,400	1,400,000	13.1415		(18,398,100.00)	Client	Sell
8:02:41	\$ / R 06/06/2017	Any day expiry		0.00	1	1,000	2,600	2,600,000	13.1415		(34,167,900.00)	Client	Sell
8:04:28	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.1822		6,591,100.00	Member	Buy
8:04:28	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.1822		(6,591,100.00)	Client	Sell
8:04:29	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.1922		6,596,100.00	Member	Buy
8:04:29	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.1922		(6,596,100.00)	Client	Sell
8:04:30	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.2072		3,301,800.00	Member	Buy
8:04:30	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.2072		(3,301,800.00)	Client	Sell
8:04:32	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.1872		6,593,600.00	Member	Buy
8:04:32	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.1872		(6,593,600.00)	Client	Sell
8:04:33	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.1872		3,296,800.00	Member	Buy
8:04:33	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.1872		(3,296,800.00)	Client	Sell

CURRENCY DERIVATIVES

CURRENCY FUTURES AND OPTIONS MATCHED TRADES

REPORT FOR 31/05/2017

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
										.,,-	
8:48:46	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.1475		(3,286,875.00) Member	Sell
8:54:40	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	154	154,000	13.1400		2,023,560.00 Member	Buy
8:54:40	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	154	154,000	13.1400		(2,023,560.00) Member	Sell
9:03:26	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.1325		2,626,500.00 Member	Buy
9:03:27	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.1325		(2,626,500.00) Member	Sell
9:03:47	\$ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.5200		(270,400.00) Client	Sell
9:03:47	\$ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.5200		270,400.00 Member	Buy
9:04:07	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.1208		(26,241.60) Client	Sell
9:04:07	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.1208		26,241.60 Member	Buy
9:05:30	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	21	21,000	13.1185		275,488.50 Member	Buy
9:05:30	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	21	21,000	13.1185		(275,488.50) Client	Sell
9:06:12	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.1265		(3,937,950.00) Member	Sell
9:06:12	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.1265		3,937,950.00 Member	Buy
9:07:09	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.3108		199,662.00 Member	Buy
9:07:09	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.3108		(199,662.00) Client	Sell
9:07:19	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.1190		(196,785.00) Member	Sell
:07:19	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.1190		196,785.00 Client	Buy
:10:51	\$ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.5090		6,754,500.00 Member	Buy
:10:51	\$ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.5090		(6,754,500.00) Member	Sell
:11:25	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	35	35,000	13.1233		(459,315.50) Member	Sell
:11:25	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	35	35,000	13.1233		459,315.50 Client	Buy
:15:28	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.1145		131,145.00 Member	Buy
:15:28	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.1145		(131,145.00) Client	Sell
:17:27	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.1200		1,968,000.00 Member	Buy
:17:27	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.1200		(1,968,000.00) Client	Sell
:19:32	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.1433		(6,571,650.00) Member	Sell
:22:06	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.1252		656,260.00 Member	Buy
:22:06	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.1252		(656,260.00) Client	Sell
:30:34	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	154	154,000	13.1400		(2,023,560.00) Client	Sell
):31:14	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	154	154,000	13.1400		2,023,560.00 Client	Buy
:31:34	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.1339		(26,267.80) Client	Sell
:31:34	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.1339		26,267.80 Member	Buy
:33:05	\$ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	325	325,000	13.5387		(4,400,077.50) Member	Sell
:33:49	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.1389		(328,472.50) Member	Sell
:33:49	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.1389		328,472.50 Client	Buy
:34:39	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.1395		6,569,750.00 Member	Buy
:34:39	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500 500	500,000	13.1395		(6,569,750.00) Member	Sell
:37:03	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	5,000	13.1395		(65,745.00) Client	Sell
):37:03	\$ / R 19/06/2017 \$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.1490 13.1490		65,745.00 Client	Buy
	\$ / R 19/06/2017 \$ / R 19/06/2017										
9:37:03		Foreign Exchange Future	0.00	1 1	1,000	500	500,000	13.1588 13.1500		(6,579,400.00) Member	Sell
9:37:03	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	45	45,000	13.1500		591,750.00 Client	Buy
9:41:28	\$ / R 19/06/2017	Foreign Exchange Future Foreign Exchange Future	0.00 0.00	1 1	1,000 1,000	155 50	155,000 50,000	13.1409 13.0900		2,036,839.50 Member (654,500.00) Member	Buy Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
										.,,,,	
9:47:58	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.1380		6,569,000.00 Client	Buy
9:51:38	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.1740		(131,740.00) Client	Sell
9:51:38	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.1740		131,740.00 Member	Buy
9:52:19	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.1775		(329,437.50) Member	Sell
9:52:19	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.1775		329,437.50 Client	Buy
9:52:26	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.1695		3,950,850.00 Member	Buy
9:57:10	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.1661		26,332.20 Member	Buy
9:58:00	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.1661		(26,332.20) Client	Sell
0:00:38	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	843	843,000	13.1783		(11,109,306.90) Client	Sell
0:00:38	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	843	843,000	13.1783		11,109,306.90 Member	Buy
0:00:38	\$ / R 31/05/2017	Any day expiry	0.00	1	1,000	1,200	1,200,000	13.1200		15,744,000.00 Member	Buy
0:04:18	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.1705		(1,317,050.00) Member	Sell
0:04:18	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.1705		1,317,050.00 Client	Buy
0:14:27	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.1562		(3,946,860.00) Member	Sell
0:14:27	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.1562		3,946,860.00 Member	Buy
0:21:09	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.1520		1,315,200.00 Member	Buy
0:24:39	\$ / R 31/05/2017	Any day expiry	0.00	1	1,000	18	18,000	13.1200		236,160.00 Member	Buy
):24:39	\$ / R 30/06/2017	Any day expiry	0.00	1	1,000	1,200	1,200,000	13.1990		(15,838,800.00) Member	Sell
0:24:39	\$ / R 30/06/2017	Any day expiry	0.00	1	1,000	18	18,000	13.1990		(237,582.00) Member	Sell
0:24:39	\$ / R 30/06/2017	Any day expiry	0.00	1	1,000	18	18,000	13.1990		237,582.00 Client	Buy
0:28:40	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.1510		65,755.00 Client	Buy
0:28:40	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.1510		(65,755.00) Member	Sell
0:28:43	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	40	40,000	13.1461		525,844.00 Client	Buy
0:28:43	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	40	40,000	13.1461		(525,844.00) Member	Sell
0:30:39	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.1399		(2,627,980.00) Member	Sell
0:30:39	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	200	200,000	13.1399		2,627,980.00 Member	Buy
0:34:13	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	7	7,000	13.1330		91,931.00 Client	Buy
0:34:13	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	7	7,000	13.1330		(91,931.00) Member	Sell
0:35:21	\$ / R 31/05/2017	Any day expiry	0.00		1,000	18	18,000	13.1200		(236,160.00) Client	Sell
0:41:44	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	25	25,000	13.1329		328,322.50 Member	Buy
0:41:44	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	25	25,000	13.1329		(328,322.50) Client	Sell
0:46:28	\$ / R 31/05/2017	Any day expiry	0.00		1,000	1,200	1,200,000	13.1200		(15,744,000.00) Client	Sell
0:46:45	\$ / R 30/06/2017	Any day expiry	0.00		1,000	1,200	1,200,000	13.1990		15,838,800.00 Client	Buy
0:50:28	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	8	8,000	13.1285		105,028.00 Member	Buy
0:50:28	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	8	8,000	13.1285		(105,028.00) Client	Sell
):58:12	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	148	148,000	13.1300		1,943,240.00 Member	Buy
):58:12	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	148	148,000	13.1300		(1,943,240.00) Member	Sell
1:00:47	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	500	500,000	13.1296		(6,564,800.00) Member	Sell
1:00:47	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	500	500,000	13.1296		6,564,800.00 Member	Buy
1:04:29	\$ / R 18/09/2017	Foreign Exchange Future	0.00		1,000	5	5,000	13.3250		(66,625.00) Client	Sell
1:04:29	\$ / R 18/09/2017	Foreign Exchange Future	0.00		1,000	5	5,000	13.3250		66,625.00 Client	Buy
1:04:29	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	5	5,000	13.1250		(65,625.00) Client	Sell
1:04:29	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	5	5,000	13.1250		65,625.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
11:11:19	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	276	276,000	13.1500		(3,629,400.00) Member	Sell
11:11:19	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	276	276,000	13.1500		3,629,400.00 Member	Buy
11:12:32	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	148	148,000	13.1300		(1,943,240.00) Client	Sell
11:12:02	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	148	148,000	13.1300		1,943,240.00 Client	Buy
11:15:45	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.1300		39,423.00 Client	Buy
	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.1410		(39,423.00) Member	Sell
11:15:45 11:16:56	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	400	400,000	13.1410			Sell
				1						(5,263,920.00) Member	
11:16:56	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	400	400,000	13.1598		5,263,920.00 Client	Buy
11:21:50	\$ / R 19/06/2017	Foreign Exchange Future	0.00	-	1,000	10	10,000	13.1413		(131,413.00) Member	Sell
11:21:50	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.1413		131,413.00 Client	Buy
11:25:16	\$ / R 31/05/2017	Any day expiry	0.00	1	1,000	4	4,000	13.1150		52,460.00 Member	Buy
1:25:16	\$ / R 31/05/2017	Any day expiry	0.00	1	1,000	4	4,000	13.1150		(52,460.00) Client	Sell
11:38:16	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.1500		(2,630,000.00) Member	Sell
11:38:16	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.1500		2,630,000.00 Member	Buy
1:50:28	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	24	24,000	13.1500		(315,600.00) Member	Sell
1:50:28	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	24	24,000	13.1500		315,600.00 Member	Buy
1:52:49	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.1558		2,631,160.00 Member	Buy
1:52:49	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.1558		(2,631,160.00) Member	Sell
1:55:30	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.1543		2,630,860.00 Member	Buy
1:55:30	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.1543		(2,630,860.00) Member	Sell
2:01:53	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.1584		13,158.40 Client	Buy
2:01:53	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.1584		(13,158.40) Member	Sell
2:20:00	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.1597		13,159.70 Member	Buy
2:20:00	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.1597		(13,159.70) Client	Sell
2:25:35	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	170	170,000	13.1585		2,236,945.00 Client	Buy
2:25:35	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	170	170,000	13.1585		(2,236,945.00) Member	Sell
2:28:05	\$ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	325	325,000	13.5387		4,400,077.50 Client	Buy
2:33:45	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	45	45,000	13.1585		(592,132.50) Client	Sell
2:33:45	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	45	45,000	13.1585		592,132.50 Member	Buy
2:33:45	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	45	45,000	13.3585		601,132.50 Client	Buy
2:33:45	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	45	45,000	13.3585		(601,132.50) Member	Sell
2:33:46	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.1585		(657,925.00) Client	Sell
2:33:46	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.1585		657,925.00 Member	Buy
2:33:46	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3585		667,925.00 Client	Buy
2:33:46	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3585		(667,925.00) Member	Sell
2:56:27	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.1310		13,131,000.00 Member	Buy
2:56:27	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.1310		(13,131,000.00) Client	Sell
3:00:32	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.1289		(2,625,780.00) Member	Sell
3:00:32	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.1289		2,625,780.00 Member	Buy
3:05:59	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.1205		65,707.50 Client	Buy
3:05:59	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.1415		(65,707.50) Member	Sell
		Foreign Exchange Future	0.00	1		4,550		13.1415		(61,625,200.00) Member	Sell
3:08:24	\$ / R 18/12/2017	i oreign Exchange Future	0.00	I	1,000 1,000	4,550 4,550	4,550,000	13.5440		(01,020,200.00) Wember	Sell

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
											.,,,,	
13:08:24	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	4,550	4,550,000	13.1435		(59,802,925.00) Client	Sell
13:08:24	\$ / R 18/12/2017	Foreign Exchange Future		0.00	1	1,000	4,550	4,550,000	13.5440		61,625,200.00 Client	Buy
13:10:11	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.1415		(1,314,150.00) Client	Sell
13:10:11	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.1415		1,314,150.00 Member	Buy
13:10:11	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.3415		1,334,150.00 Client	Buy
13:10:11	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.3415		(1,334,150.00) Member	Sell
13:10:11	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.1415		6,570,750.00 Member	Buy
13:10:11	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3410		(6,670,500.00) Member	Sell
13:27:41	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.1275		65,637.50 Client	Buy
13:27:41	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.1275		(65,637.50) Member	Sell
13:28:40	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.1228		131,228.00 Member	Buy
13:28:40	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.1228		(131,228.00) Client	Sell
13:31:59	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.1543		39,462.90 Member	Buy
13:31:59	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.1543		(39,462.90) Client	Sell
13:42:09	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.1388		(2,627,760.00) Member	Sell
13:42:09	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.1388		2,627,760.00 Member	Buy
13:45:40	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.1260		6,563,000.00 Member	Buy
13:45:40	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.1260		(6,563,000.00) Client	Sell
13:48:14	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3425		(667,125.00) Client	Sell
13:48:14	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.1430		657,150.00 Member	Buy
13:54:06	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3510		(667,550.00) Client	Sell
13:54:06	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3510		667,550.00 Member	Buy
13:55:23	\$ / R 18/12/2017	Foreign Exchange Future	Р	13.18	1	1,000	395	395,000	464.0600		183,303,700.00 Member	Buy
13:55:23	\$ / R 18/09/2017	Foreign Exchange Future	Р	13.63	1	1,000	391	391,000	659.8500		258,001,350.00 Member	Buy
13:57:32	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.1525		2,630,500.00 Member	Buy
13:57:32	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.1525		(2,630,500.00) Member	Sell
14:05:00	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	174	174,000	13.1480		2,287,752.00 Member	Buy
14:09:45	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	40	40,000	13.1669		(526,676.00) Client	Sell
14:09:45	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	40	40,000	13.1669		526,676.00 Member	Buy
14:10:55	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.1725		(65,862.50) Client	Sell
14:10:55	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.1725		65,862.50 Member	Buy
14:11:00	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	174	174,000	13.1480		(2,287,752.00) Client	Sell
14:12:52	\$ / R 18/09/2017	Foreign Exchange Future	Р	13.63	1	1,000	391	391,000	659.8500		(258,001,350.00) Client	Sell
14:13:35	\$ / R 18/12/2017	Foreign Exchange Future	Р	13.18	1	1,000	395	395,000	464.0600		(183,303,700.00) Client	Sell
14:16:53	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	6	6,000	13.1684		79,010.40 Member	Buy
14:16:53	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	6	6,000	13.1684		(79,010.40) Client	Sell
14:21:24	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.1579		(263,158.00) Client	Sell
14:21:24	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.1579		263,158.00 Member	Buy
14:23:35	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.1950		(26,390.00) Client	Sell
14:23:35	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.1700		13,170.00 Member	Buy
14:25:33	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.1753		(1,317,530.00) Member	Sell
14:25:33	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.1753		1,317,530.00 Member	Buy
	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.1784		(131,784.00) Member	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
TIME			Fut	Indues	Value		Nominal	FILCE	Nate	туре	Jeil
14:32:45	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.1800		(52,720.00) Client	Sell
14:32:45	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.1800		52,720.00 Client	Buy
14:35:32	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.1715		6,585,750.00 Member	Buy
14:35:32	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.1715		(6,585,750.00) Client	Sell
14:40:55	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.1500		2,630,000.00 Member	Buy
14:41:21	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	97	97,000	13.1458		1,275,142.60 Member	Buy
14:44:27	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	297	297,000	13.1386		3,902,164.20 Member	Buy
14:44:27	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	297	297,000	13.1386		(3,902,164.20) Client	Sell
14:45:51	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	7	7,000	13.1515		92,060.50 Client	Buy
14:45:51	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	7	7,000	13.1515		(92,060.50) Member	Sell
4:46:16	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	4,058	4,058,000	13.1553		53,384,207.40 Member	Buy
5:01:00	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.1669		(131,669.00) Member	Sell
5:01:41	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.1700		(1,317,000.00) Member	Sell
5:01:41	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.1700		1,317,000.00 Member	Buy
5:01:47	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	6	6,000	13.1800		(79,080.00) Client	Sell
5:01:56	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	14	14,000	13.1809		(184,532.60) Member	Sell
5:05:43	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	40	40,000	13.1779		(527,116.00) Member	Sell
5:05:43	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	40	40,000	13.1779		527,116.00 Client	Buy
5:12:09	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3841		(669,205.00) Member	Sell
5:19:36	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	8	8,000	13.1875		(105,500.00) Client	Sell
5:19:36	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	8	8,000	13.1875		105,500.00 Member	Buy
5:19:36	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	8	8,000	13.3905		(107,124.00) Member	Sell
5:19:36	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	19	19,000	13.1895		250,600.50 Member	Buy
5:19:36	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	19	19,000	13.3925		(254,457.50) Member	Sell
5:26:09	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.1824		3,295,600.00 Member	Buy
5:28:46	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	200	200,000	13.1950		(2,639,000.00) Member	Sell
5:28:46	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.1850		1,318,500.00 Member	Buy
5:30:48	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	1	1,000	13.1900		13,190.00 Member	Buy
5:31:30	\$ / R 18/09/2017	Foreign Exchange Future	0.00		1,000	40	40,000	13.3968		535,872.00 Member	Buy
5:32:30	\$ / R 18/09/2017	Foreign Exchange Future	0.00		1,000	40	40,000	13.3968		535,872.00 Member	Buy
5:33:07	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	9	9,000	13.2050		(118,845.00) Client	Sell
5:33:07	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	9	9,000	13.2050		118,845.00 Member	Buy
5:33:07	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	50	50,000	13.2050		660,250.00 Member	Buy
5:33:07	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	100	100,000	13.2050		1,320,500.00 Member	Buy
5:37:19	\$ / R 06/06/2017	Any day expiry	0.00		1,000	2,200	2,200,000	13.1045		28,829,900.00 Client	Buy
5:37:19	\$ / R 06/06/2017	Any day expiry	0.00		1,000	2,200	2,200,000	13.1045		(28,829,900.00) Member	Sell
5:37:19	\$ / R 06/06/2017	Any day expiry	0.00		1,000	13,800	13,800,000	13.1045		180,842,100.00 Client	Buy
5:37:19	\$ / R 06/06/2017	Any day expiry	0.00		1,000	2,600	2,600,000	13.1045		(34,071,700.00) Member	Sell
5:37:19	\$ / R 06/06/2017	Any day expiry	0.00		1,000	2,600	2,600,000	13.1045		34,071,700.00 Client	Buy
5:37:19	\$ / R 06/06/2017	Any day expiry	0.00		1,000	1,400	1,400,000	13.1045		(18,346,300.00) Member	Sell
5:37:19	\$ / R 06/06/2017	Any day expiry	0.00		1,000	13,800	13,800,000	13.1045		(180,842,100.00) Member	Sell
5:37:19	\$ / R 06/06/2017	Any day expiry	0.00		1,000	1,400	1,400,000	13.1045		18,346,300.00 Client	Buy
5:37:33	\$ / R 18/09/2017	Foreign Exchange Future	0.00		1,000	40	40,000	13.3968		(535,872.00) Client	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
										.,,-	
15:39:30	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.2005		132,005.00 Member	Buy
15:39:30	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.2005		(132,005.00) Client	Sell
15:42:52	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	11	11,000	13.4013		(147,414.30) Client	Sell
15:42:52	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	11	11,000	13.4013		147,414.30 Member	Buy
15:50:27	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.2025		132,025.00 Member	Buy
15:50:27	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.2025		(132,025.00) Client	Sell
15:51:44	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.1687		3,292,175.00 Member	Buy
15:51:44	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.1687		(3,292,175.00) Client	Sell
15:51:47	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.1808		6,590,400.00 Member	Buy
15:51:50	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.1887		6,594,350.00 Member	Buy
15:51:50	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.1887		(6,594,350.00) Client	Sell
15:51:53	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.1805		3,295,125.00 Member	Buy
15:51:53	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.1805		(3,295,125.00) Client	Sell
15:51:57	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.1991		1,979,865.00 Member	Buy
15:51:57	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.1991		(1,979,865.00) Client	Sell
15:52:19	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.2115		(66,057.50) Client	Sell
15:52:19	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.2115		66,057.50 Member	Buy
15:52:28	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.1415		(6,570,750.00) Client	Sell
15:52:43	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.3410		6,670,500.00 Client	Buy
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	1,400	1,400,000	13.1045		18,346,300.00 Member	Buy
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	2,600	2,600,000	13.1096		(34,084,960.00) Member	Sell
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	13,800	13,800,000	13.1045		180,842,100.00 Member	Buy
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	13,800	13,800,000	13.1096		(180,912,480.00) Member	Sell
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	1,400	1,400,000	13.1045		(18,346,300.00) Client	Sell
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	2,600	2,600,000	13.1045		(34,071,700.00) Client	Sell
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	13,800	13,800,000	13.1045		(180,842,100.00) Client	Sell
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	2,200	2,200,000	13.1096		28,841,120.00 Client	Buy
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	2,600	2,600,000	13.1096		34,084,960.00 Client	Buy
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	1,400	1,400,000	13.1096		(18,353,440.00) Member	Sell
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	2,200	2,200,000	13.1045		28,829,900.00 Member	Buy
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	2,600	2,600,000	13.1045		34,071,700.00 Member	Buy
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	2,200	2,200,000	13.1096		(28,841,120.00) Member	Sell
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	13,800	13,800,000	13.1096		180,912,480.00 Client	Buy
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	1,400	1,400,000	13.1096		18,353,440.00 Client	Buy
15:52:50	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	2,200	2,200,000	13.1045		(28,829,900.00) Client	Sell
15:52:51	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3425		667,125.00 Client	Buy
15:52:58	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.1430		(657,150.00) Client	Sell
15:53:23	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.2185		(66,092.50) Client	Sell
15:53:23	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.2185		66,092.50 Member	Buy
15:53:24	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.2200		(66,100.00) Client	Sell
15:53:24	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.2200		66,100.00 Member	Buy
15:53:24	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.2200		1,322,000.00 Member	Buy
15:53:24	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.2200		198,165.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
					inddoo	Value			1 1100	itato	1960	
15:53:28	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	15	15,000	13.2110		(198,165.00) Client	Sell
15:54:01	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	15	15,000	13.2225		198,337.50 Member	Buy
15:54:01	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	15	15,000	13.2225		(198,337.50) Client	Sell
15:55:02	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2200		132,200.00 Client	Buy
15:55:02	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2200		(132,200.00) Client	Sell
15:55:34	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2200		132,200.00 Client	Buy
15:55:34	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2200		(132,200.00) Member	Sell
15:55:47	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.2229		3,305,725.00 Member	Buy
15:55:47	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.2229		(3,305,725.00) Client	Sell
5:59:22	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.2108		(3,302,700.00) Client	Sell
5:59:22	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.2108		3,302,700.00 Member	Buy
15:59:25	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	13.2235		(39,670,500.00) Member	Sell
15:59:25	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	13.2235		39,670,500.00 Client	Buy
16:00:23	\$ / R 18/12/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.6150		680,750.00 Client	Buy
16:00:23	\$ / R 18/12/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.6150		(680,750.00) Member	Sell
6:00:28	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.1808		(6,590,400.00) Client	Sell
6:02:30	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2016		132,016.00 Member	Buy
6:02:30	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2016		(132,016.00) Client	Sell
6:05:53	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.2114		1,321,140.00 Member	Buy
6:06:37	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.2200		13,220.00 Member	Buy
6:06:50	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.2250		(330,625.00) Client	Sell
6:06:50	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.2250		330,625.00 Member	Buy
6:07:15	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.2217		(1,322,170.00) Member	Sell
6:07:15	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.2217		1,322,170.00 Member	Buy
6:11:03	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	26	26,000	13.2200		(343,720.00) Client	Sell
6:11:03	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	26	26,000	13.2200		343,720.00 Member	Buy
6:11:04	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.2200		264,400.00 Member	Buy
6:13:26	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.2010		(66,005.00) Member	Sell
6:13:26	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.2010		66,005.00 Client	Buy
6:14:01	\$ / R 19/03/2018	Foreign Exchange Future	Р	13.07	1	1,000	113,476	113,476,000	460.9400	(5	2,305,627,440.00) Member	Sell
6:14:09	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	2,500	2,500,000	13.2065	,	(33,016,250.00) Member	Sell
6:14:09	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	2,500	2,500,000	13.2065		33,016,250.00 Client	Buy
6:18:23	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.2150		264,300.00 Member	Buy
6:18:23	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.2150		(264,300.00) Client	Sell
6:23:08	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	282	282,000	13.2130		3,726,066.00 Client	Buy
6:23:08	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	282	282,000	13.2130		(3,726,066.00) Member	Sell
6:24:05	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	124	124,000	13.2100		(1,638,040.00) Member	Sell
6:24:05	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	124	124,000	13.2100		1,638,040.00 Member	Buy
16:25:58	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	124	124,000	13.2100		1,638,040.00 Client	Buy
6:26:22	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2130		(132,130.00) Client	Sell
6:26:22	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2130		132,130.00 Member	Buy
6:27:08	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	124	124,000	13.2100		(1,638,040.00) Client	Sell
16:30:50	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	124	124,000	13.2100		(1,638,040.00) Client	Sell

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Premium Value Trade Rate Type	Buy/ Sell
16:32:09	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	124	124,000	13.2100	1,638,040.00 Client	Buy
16:33:38	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	124	124,000	13.2100	1,638,040.00 Client	Buy
16:34:39	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	124	124,000	13.2100	(1,638,040.00) Client	Sell
16:37:38	\$ / R 19/03/2018	Foreign Exchange Future	Р	13.07	1	1,000	411	411,000	460.9400	189,446,340.00 Client	Buy
16:37:38	\$ / R 19/03/2018	Foreign Exchange Future	Р	13.07	1	1,000	1,653	1,653,000	460.9400	761,933,820.00 Client	Buy
16:37:38	\$ / R 19/03/2018	Foreign Exchange Future	Р	13.07	1	1,000	8,242	8,242,000	460.9400	3,799,067,480.00 Client	Buy
16:37:38	\$ / R 19/03/2018	Foreign Exchange Future	Р	13.07	1	1,000	698	698,000	460.9400	321,736,120.00 Client	Buy
16:37:38	\$ / R 19/03/2018	Foreign Exchange Future	Р	13.07	1	1,000	133	133,000	460.9400	61,305,020.00 Client	Buy
16:37:38	\$ / R 19/03/2018	Foreign Exchange Future	Р	13.07	1	1,000	11,120	11,120,000	460.9400	5,125,652,800.00 Client	Buy
16:37:39	\$ / R 19/03/2018	Foreign Exchange Future	Р	13.07	1	1,000	12,080	12,080,000	460.9400	5,568,155,200.00 Client	Buy
16:37:39	\$ / R 19/03/2018	Foreign Exchange Future	Р	13.07	1	1,000	198	198,000	460.9400	91,266,120.00 Client	Buy
16:37:39	\$ / R 19/03/2018	Foreign Exchange Future	Р	13.07	1	1,000	78,941	78,941,000	460.9400	36,387,064,540.00 Client	Buy
16:39:10	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2039	132,039.00 Member	Buy
16:39:19	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2039	(132,039.00) Client	Sell
16:40:56	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2039	132,039.00 Member	Buy
16:40:56	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2039	(132,039.00) Client	Sell
16:41:56	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	40	40,000	13.1958	527,832.00 Member	Buy
16:41:56	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	40	40,000	13.1958	(527,832.00) Client	Sell
16:43:54	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2046	(132,046.00) Member	Sell
16:43:54	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2046	132,046.00 Client	Buy
16:45:27	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.4036	13,403,600.00 Client	Buy
16:45:27	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.4036	(13,403,600.00) Member	Sell
16:45:47	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	444	444,000	13.1958	5,858,935.20 Member	Buy
16:45:47	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	444	444,000	13.1958	(5,858,935.20) Member	Sell
16:48:50	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.3962	(401,886.00) Client	Sell
16:48:50	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.3962	401,886.00 Member	Buy
16:48:51	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.2006	(396,018.00) Member	Sell
16:48:51	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.2006	396,018.00 Member	Buy
16:49:46	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2100	132,100.00 Member	Buy
16:49:46	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2100	(132,100.00) Client	Sell
16:49:59	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.2152	396,456.00 Member	Buy
16:49:59	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.2152	(396,456.00) Member	Sell
16:51:28	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2200	(132,200.00) Client	Sell
16:51:28	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2200	132,200.00 Member	Buy
16:52:56	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.2295	(2,645,900.00) Member	Sell
16:52:56	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.2295	2,645,900.00 Member	Buy
16:57:05	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.1765	2,635,300.00 Member	Buy
16:58:01	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.2286	3,307,150.00 Member	Buy
16:58:01	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.2286	(3,307,150.00) Client	Sell
16:59:46	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.2287	264,574.00 Member	Buy
16:59:50	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2308	132,308.00 Member	Buy
16:59:50	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2308	(132,308.00) Client	Sell
17:00:04	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.1767	131,767.00 Client	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
17:00:04	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.1767		131,767.00 Client	Buy
17:00:24	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	77	77,000	13.3868		1,030,783.60 Client	Buy
17:00:34	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.1475		3,286,875.00 Client	Buy
17:00:38	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.1767		263,534.00 Client	Buy
17:00:46	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.2287		(264,574.00) Client	Sell
7:01:06	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	60	60,000	13.1765		(790,590.00) Client	Sell
7:01:06	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	110	110,000	13.1765		(1,449,415.00) Client	Sell
7:01:06	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	30	30,000	13.1765		(395,295.00) Client	Sell
17:10:16	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	25	25,000	13.1300		328,250.00 Member	Buy
7:10:16	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.1771		(3,294,275.00) Client	Sell
17:17:11	\$ / R 30/06/2017	Any day expiry	0.00		1,000	1,000	1,000,000	13.2657		(13,265,700.00) Client	Sell
17:17:11	\$ / R 30/06/2017	Any day expiry	0.00	1	1,000	1,000	1,000,000	13.2657		13,265,700.00 Member	Buy
7:22:08	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	92	92,000	13.1553		(1,210,287.60) Client	Sell
17:22:08	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	3,389	3,389,000	13.1553		(44,583,311.70) Client	Sell
7:22:08	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	229	229,000	13.1553		(3,012,563.70) Client	Sell
7:22:08	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	34	34,000	13.1553		(447,280.20) Client	Sell
7:22:08	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	314	314,000	13.1553		(4,130,764.20) Client	Sell
7:24:57	\$ / R 18/09/2017	Foreign Exchange Future	0.00		1,000	250	250,000	13.4507		(3,362,675.00) Client	Sell
7:24:57	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.4507		3,362,675.00 Member	Buy
7:28:50	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	100	100,000	13.2461		(1,324,610.00) Client	Sell
7:28:50	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.2461		1,324,610.00 Member	Buy
7:35:03	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	500	500,000	13.2428		(6,621,400.00) Member	Sell
7:35:03	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	500	500,000	13.2428		6,621,400.00 Client	Buy
7:35:06	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	500	500,000	13.2286		(6,614,300.00) Member	Sell
7:35:06	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	500	500,000	13.2286		6,614,300.00 Client	Buy
7:46:05	\$ / R 06/06/2017	Any day expiry	0.00		1,000	1,820	1,820,000	13.2105		24,043,110.00 Member	Buy
7:46:05	\$ / R 06/06/2017	Any day expiry	0.00		1,000	9,660	9,660,000	13.2105		(127,613,430.00) Client	Sell
7:46:05	\$ / R 06/06/2017	Any day expiry	0.00		1,000	1,820	1,820,000	13.2105		(24,043,110.00) Client	Sell
7:46:05	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	980	980,000	13.2105		12,946,290.00 Member	Buy
7:46:05	\$ / R 06/06/2017	Any day expiry	0.00		1,000	1,540	1,540,000	13.2105		(20,344,170.00) Client	Sell
7:46:05	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	980	980,000	13.2105		(12,946,290.00) Client	Sell
7:46:05	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	1,540	1,540,000	13.2105		20,344,170.00 Member	Buy
7:46:05	\$ / R 06/06/2017	Any day expiry	0.00	1	1,000	9,660	9,660,000	13.2105		127,613,430.00 Member	Buy
8:01:32	\$ / R 31/05/2017	Any day expiry	0.00	1	1,000	1,023	1,023,000	13.1680		(13,470,864.00) Member	Sell
8:01:32	\$ / R 31/05/2017	Any day expiry	0.00	1	1,000	177	177,000	13.1680		(2,330,736.00) Member	Sell
8:01:32	\$ / R 31/05/2017	Any day expiry	0.00		1,000	1,200	1,200,000	13.1680		15,801,600.00 Member	Buy
otal Futu	res			192		139,794	139,794,000			1,839,899,522.15	
otal Opti	Options			7		114,262	114,262,000			0.00	
Total for \$	/ R Any day expiry			199		254,056	254,056,000		ł	54,586,832,012.15	
9:10:51	\$ / R MAXI 18/12/2017	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.5090		(6,754,500.00) Member	Sell
9:10:51	\$ / R MAXI 18/12/2017	Foreign Exchange Future	0.00		100,000	5	500,000	13.5090		6,754,500.00 Member	Buy

Matched Fime	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
2:18:10	\$ / R MAXI 19/06/2017	Foreign Exchange Future	0.00	1	100,000	11	1,100,000	13.1625		(14,478,750.00) Member	Sell
2:18:10	\$ / R MAXI 19/06/2017	Foreign Exchange Future	0.00	1	100,000	11	1,100,000	13.1625		14,478,750.00 Client	Buy
5:40:22	\$ / R MAXI 19/06/2017	Foreign Exchange Future	0.00	1	100,000	35	3,500,000	13.2013		(46,204,550.00) Member	Sell
5:40:22	\$ / R MAXI 18/06/2018	Foreign Exchange Future	0.00	1	100,000	35	3,500,000	13.9808		48,932,800.00 Member	Buy
5:51:37	\$ / R MAXI 19/06/2017	Foreign Exchange Future	0.00	1	100,000	12	1,200,000	13.2013		15,841,560.00 Client	Buy
5:51:37	\$ / R MAXI 19/06/2017	Foreign Exchange Future	0.00	1	100,000	23	2,300,000	13.2013		30,362,990.00 Client	Buy
5:51:56	\$ / R MAXI 18/06/2018	Foreign Exchange Future	0.00	1	100,000	12	1,200,000	13.9808		(16,776,960.00) Client	Sell
5:51:56	\$ / R MAXI 18/06/2018	Foreign Exchange Future	0.00	1	100,000	23	2,300,000	13.9808		(32,155,840.00) Client	Sell
lotal Futu	res			5		86	8,600,000			116,370,600.00	
Fotal Optio	ons										
otal for \$	/ R MAXI Foreign Exch	nange Future		5		86	8,600,000			116,370,600.00	
9:01:12	£/R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	7	7,000	16.8445		(117,911.50) Member	Sell
9:01:12	£ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	7	7,000	16.8445		117,911.50 Client	Buy
9:49:20	£ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	17.1634		4,290,850.00 Member	Buy
9:49:20	£ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	17.1634		(8,581,700.00) Client	Sell
:49:20	£ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	17.1634		4,290,850.00 Member	Buy
0:00:10	£ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	17.1710		4,292,750.00 Member	Buy
0:00:10	£ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	17.1710		(4,292,750.00) Member	Sell
0:00:10	£ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	17.1704		4,292,600.00 Member	Buy
0:00:10	£ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	17.1704		(4,292,600.00) Member	Sell
0:24:39	£ / R 30/06/2017	Any day expiry	0.00	1	1,000	5	5,000	16.8695		(84,347.50) Member	Sell
0:24:39	£ / R 31/05/2017	Any day expiry	0.00	1	1,000	5	5,000	16.7500		83,750.00 Member	Buy
0:24:39	£ / R 31/05/2017	Any day expiry	0.00	1	1,000	5	5,000	16.7500		(83,750.00) Client	Sell
0:24:39	£ / R 30/06/2017	Any day expiry	0.00	1	1,000	5	5,000	16.8695		84,347.50 Client	Buy
5:53:29	£/R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.0300		85,150.00 Member	Buy
5:53:29	£ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.0300		(85,150.00) Client	Sell
8:01:32	£ / R 31/05/2017	Any day expiry	0.00	1	1,000	64	64,000	16.9475		1,084,640.00 Member	Buy
8:01:32	£ / R 31/05/2017	Any day expiry	0.00	1	1,000	64	64,000	16.9475		(1,084,640.00) Member	Sell
otal Futu	res			9		1,086	1,086,000			18,622,849.00	
otal Optio	ons										
otal for £	/ R Any day expiry			9		1,086	1,086,000			18,622,849.00	
0:00:29	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.7298		3,682,450.00 Member	Buy
0:00:29	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.7298		(3,682,450.00) Member	Sell
0:00:29	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.7293		3,682,325.00 Member	Buy
0:00:29	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.7293		(3,682,325.00) Member	Sell
0:24:39	€ / R 31/05/2017	Any day expiry	0.00	1	1,000	4	4,000	14.6600		58,640.00 Member	Buy
0:24:39	€ / R 30/06/2017	Any day expiry	0.00	1	1,000	4	4,000	14.7750		(59,100.00) Member	Sell
):24:39	€ / R 31/05/2017	Any day expiry	0.00	1	1,000	4	4,000	14.6600		(58,640.00) Client	Sell
0:36:52	€ / R 30/06/2017	Any day expiry	0.00	1	1,000	4	4,000	14.7750		59,100.00 Client	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
12:55:23	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.7438		3,685,950.00 Member	Buy
12:55:23	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.7438		(3,685,950.00) Member	Sell
12:55:23	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.7436		3,685,900.00 Member	Buy
12:55:23	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.7436		(3,685,900.00) Member	Sell
12:59:37	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.7289		3,682,225.00 Member	Buy
12:59:37	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.7289		(3,682,225.00) Member	Sell
12:59:37	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.7283		3,682,075.00 Member	Buy
12:59:37	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.7283		(3,682,075.00) Member	Sell
14:05:00	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	714	714,000	14.7686		10,544,780.40 Member	Buy
14:11:25	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	714	714,000	14.7686		(10,544,780.40) Client	Sell
15:02:13	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	30	30,000	14.7950		443,850.00 Member	Buy
16:01:45	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	30	30,000	14.8517		445,551.00 Member	Buy
16:01:45	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	90	90,000	14.8459		(1,336,131.00) Client	Sell
16:12:42	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	8	8,000	14.8500		118,800.00 Client	Buy
16:12:42	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	8	8,000	14.8500		(118,800.00) Member	Sell
16:13:25	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.1473		(302,946.00) Member	Sell
16:13:25	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.1473		302,946.00 Client	Buy
16:16:59	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	97	97,000	14.8433		(1,439,800.10) Member	Sell
16:16:59	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	97	97,000	14.8433		1,439,800.10 Client	Buy
16:20:22	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.8574		(14,857.40) Member	Sell
16:20:22	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.8574		14,857.40 Client	Buy
16:20:27	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.8571		(14,857.10) Member	Sell
16:20:27	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.8571		14,857.10 Client	Buy
16:22:45	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	70	70,000	14.8620		(1,040,340.00) Member	Sell
16:22:45	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	70	70,000	14.8620		1,040,340.00 Client	Buy
16:22:46	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	4	4,000	14.8624		(59,449.60) Member	Sell
16:22:46	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	4	4,000	14.8624		59,449.60 Client	Buy
16:22:56	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	49	49,000	14.8603		(728,154.70) Member	Sell
16:22:56	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	49	49,000	14.8603		728,154.70 Client	Buy
16:24:15	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	19	19,000	14.8547		(282,239.30) Member	Sell
16:24:15	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	19	19,000	14.8547		282,239.30 Client	Buy
16:29:53	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.8624		(14,862.40) Member	Sell
16:29:53	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.8624		14,862.40 Client	Buy
16:58:40	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	30	30,000	14.8910		446,730.00 Member	Buy
Total Futu	tal Futures			21		2,582	2,582,000			38,115,883.00	
Total Opti	ons										
Total for €	2 / R Foreign Exchang	e Future		21		2,582	2,582,000			38,115,883.00	

Matched Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value T T	rade ype	Buy/ Sell
Total Futures			227		143,548	152,062,000			2,013,008,854.15		
Total Options			7		114,262	114,262,000			0.00		
Grand Total for all Instrumer	nts		234		257,810	266,324,000		5	4,759,941,344.15		